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Word Problem Types
3 Dimensions: Objective, Application, Number Variation

XV. Solve percent problems of the form ___% of ___ is ___ (“percent” of “whole” is “part,” where part may be larger than the “whole”) where two of the three blanks are known and one of the blanks is unknown.
	
	Comes out even
	Requires rounding
	Percent less than 1%
	Percent greater than 100%

	
	___% of 90 is 36
	___% of 90 is 8
	.08% of 9 is ___
	140% of ___ is 420.

	Find the percent
	__% of 20 is 5.
	A serving of Cheez-Whiz has 150 calories, 60 of which are from fat. What’s the percentage of fat in the product?
	Garrett’s charity donation set a goal to raise $8 million dollars. They are currently at $5.8 million dollars. What percentage are they at for reaching their goal? If necessary, round to nearest one-tenth of a percent.
	In one week, all album sales are at 5 million. The next week, 5.006 million albums are sold. What is percent increase of album sales?
	In 1995, Relay for Life raised $20 million. In 2010, they raised $388 million dollars. What is the percent increase?

	Find the “whole”
	30% of __ is 12.
	Jaran spends $43 on a pair of cleats.  The cleats where originally 14% off, which means Jaran pays 86% of the original price. How much were they originally?
	In Icel county, 51% of the population voted for Gore, which is 760 people voting for Gore. How many people voted in total in Icel county?
	A high school takes a survey of their students on who rides their bikes to school. If .75% of students ride their bikes to school and only 9 people ride their bikes, how many students go to the school?
	The cost of a tractor today is 300% of the price 25 years ago.  If a tractor in today's economy costs $16,200, what would it cost 25 years ago cost?

	Find the “part”
	40% of 90 is __.
	20% of Steve’s income goes to taxes.  He made $60,000.  What is the amount Steve pays in taxes?
	A sports store offers 10% off of baseball jersey’s which normally cost $110.99. How much with a jersey cost with the discount, not including tax?
	Rick’s batting average last year was .312. At the end of this season, it decreased by .5%. What is Rick’s new batting average?
	An elevator’s capacity is 2,000 lbs. Due to overcrowding, the elevator has 117% of its capacity.  How much weight is in the elevator?
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